Subtraction of Fractions

Find the Difference by Subtracting. Answer in Lowest Terms.

^{1.}
$$9\frac{2}{3} - 8\frac{1}{3} =$$

^{2.}
$$8\frac{4}{9} - 3\frac{3}{9} =$$

^{3.}
$$9\frac{4}{6} - 7\frac{3}{6} =$$

^{4.}
$$8\frac{3}{4} - 8\frac{1}{4} =$$

^{5.}
$$8\frac{8}{12} - 1\frac{1}{12} =$$

^{6.}
$$9\frac{2}{5} - 9\frac{1}{5} =$$

^{7.}
$$3\frac{6}{8} - 1\frac{5}{8} =$$

^{8.}
$$4\frac{3}{5}-4\frac{1}{5}=$$

9.
$$9\frac{7}{8} - 9\frac{3}{8} =$$

$$^{10.} 9 \frac{9}{12} - 7 \frac{7}{12} =$$

Subtraction of Fractions

Find the Difference by Subtracting. Answer in Lowest Terms.

^{1.}
$$9\frac{2}{3} - 8\frac{1}{3} = 1\frac{1}{3}$$

^{2.}
$$8\frac{4}{9} - 3\frac{3}{9} = 5\frac{1}{9}$$

^{3.}
$$9\frac{4}{6} - 7\frac{3}{6} = 2\frac{1}{6}$$

^{4.}
$$8\frac{3}{4} - 8\frac{1}{4} = \frac{1}{2}$$

^{5.}
$$8\frac{8}{12} - 1\frac{1}{12} = 7\frac{7}{12}$$

^{6.}
$$9\frac{2}{5} - 9\frac{1}{5} = \frac{1}{5}$$

^{7.}
$$3\frac{6}{8} - 1\frac{5}{8} = 2\frac{1}{8}$$

8.
$$4\frac{3}{5} - 4\frac{1}{5} = \frac{2}{5}$$

9.
$$9\frac{7}{8} - 9\frac{3}{8} = \frac{1}{2}$$

$$9 \frac{9}{12} - 7 \frac{7}{12} = 2 \frac{1}{6}$$